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A KOS @ DRI R B ARYE /= fH B3R 3-1 A& 4% Hob . r 258 ¢ N i 207
SENM LR B R
F 20 (3-21) i) LAT 7 4 v 4y 2800 R BREIISE 7 9 23 A LA S 18] 3-12 B
(DTEFES ) PAEZ ERY 0, B2 r=0 W, BN 77 B % B2 = 9 365 0 i s /)
(OARFELET T P AR ER5 L BIYS »=>0 BF, BEIn R 7 o 2 9F 86 38 0 31— 2 T i
KB R RAE . Z 5 O )
(OAER — K10 L RIS =0 B B AN Jy fE S b ) PRIAE IR LR IR B 5 4
H ) P AVE IR BB - 038 o i v/ o

zy
Z
%
L
Q

—LL%

z
B 3-12 BE&EdEmHERTHMME S

R SR A 2 ) K B g (R TR] A9 32 4 7t o 00T LA 2 1 3-13 Frs Y o S (E 2R
3 A7 B HE s ) i A P DR An AR B LA R O I 5. P 3-13 KWL AR R ) P AR Mk 5
AL Y RS T 152 5 1) 9 T g TG R A R % )

B 313 . EEEZNHE

3.4.2 HEEEHMEREGEHEATHMMNE ATE

LEmERETRIERBERL

BRI A7 28 T A AR LR 3 0 g N b AT e b 8 g A i 2 P T 2R
F S R BN 10 8 po o Fe AR I3 155K AR Ao 0T AR 5T B0 3t 5 B0 00 57 17 & R ) iz JH A ik
SRAFHIE 1 BRI A Aoy 28 T AT 50 010 e 2 B D oz
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el 5 o

B daedy, IR B0 23 A3 fi LA P ) po daedy RAVER  WIAE S i O PALEIRE = B9 M 51
Ak H ISR R T 5 R B N 1 BRI R ) do. s $2 30(3-13)

3 pQZ
2n (2’ +y 22 )

do. =

dxdy (3-23)

Y

N R

z

E3-14 HHEERGHARATOMMES o
Bt do X A fir BT AL A BEAT AR, RV R 10 8 g R o 1z g g e ik 5K

o: Hdo‘ 21 ) (:c2 + vyt 2P dzdy

(3-24)
Po[ sz(ZZ—F/J + 225 = b }
-+ arcsin , r , ,
2l (P + 22 WP+ 22 JE+ b+ (L2 +0%) (b +2)
A
=4
1 [ bz (P +0*+22%) . b }
=] +arcsin
(P22 B2 [P+ 427 (422 (P42
5
o.=K.p, (3-25)
NA m=1/b,n=2z/bCb Hyfay 21 1) 5341 58 B, W)
1 [ mn(m*+2n"+1) + . m }
= : : : arcsin : : :
2rl (m*+a*) (1+n?) /m* +n*+1 (m*+n*) (1+n*)

Ao, Kb ¥ 40 FEE 107 867 5T 08 185 1] BRE I, 7 22 280 181 B AR i B 0 R T AR i m B {HL
% 3-2 &5
£32 MENERTHASTHNEEMME DR

)

2/b

1.0 1.2 1.4 1.6 1.8 2.0 3.0 4.0 5.0 =10

0.0 0. 250 0. 250 0. 250 0. 250 0. 250 0. 250 0. 250 0. 250 0. 250 0. 250

0.2 0.249 0.249 0.249 0.249 0.249 0.249 0.249 0.249 0.249 0.249
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1/b

1.0 1.2 1.4 1.6 1.8 2.0 3.0 4.0

WV

0.4 0. 240 0.242 0. 243 0.243 0. 244 0. 244 0. 244 0. 244 0. 244 0. 244

0.6 0.223 0.228 0.230 0.232 0.232 0.233 0.234 0.234 0.234 0.234

0.8 0.200 0.208 0.212 0. 215 0.217 0.218 0.220 0.220 0.220 0.220

1.0 0.175 0.185 0.191 0.196 0.198 0.200 0.203 0.204 0.204 0. 205

1.2 0.152 0.163 0.171 0.176 0.179 0.182 0.187 0.188 0.189 0.189

1.4 0.131 0.142 0.151 0.157 0.161 0.164 0.171 0.173 0.174 0.174

1.6 0.112 0.124 0.133 0. 140 0. 145 0.148 0. 157 0.159 0.160 0.160

1.8 0.097 0.108 0.117 0.124 0.129 0.133 0.143 0. 146 0.147 0.148

2.0 0.084 0.095 0.103 0.110 0.116 0.120 0.131 0.135 0.136 0.137

2.5 0. 060 0. 069 0.077 0.083 0.089 0.093 0.106 0.111 0.114 0.115

3.0 0. 045 0.052 0.058 0.064 0.069 0.073 0. 087 0.093 0.096 0.099

4.0 0.027 0.032 0.036 0. 040 0. 044 0.048 0. 060 0.067 0.071 0.076

5.0 0.018 0.021 0.024 0.027 0.030 0.033 0. 044 0. 050 0. 055 0.061

7.0 0.010 0.011 0.013 0.015 0.016 0.018 0.025 0.031 0.035 0. 043

9.0 0.006 0.007 0.008 0.009 0.010 0.011 0.016 0.020 0.024 0.032

10.0 0.005 0.006 0.007 0.007 0.008 0. 009 0.013 0.017 0.020 0.028

X T Y A A BN T T SR L T A T B B0, T A A (3-25) DA R
3. P 3-15 g T R AL A SR DU ARG B0 CE B MU LR AR IR < A 3t
St 3 e M SR B IR A AT A AR L R L M R SR SR R o A AN R A JE A
FOARJE FHE A (B-25) TR A DR M ST W — IR B = AL RN ) o0, I SRR
Pu Rl o0 i S an T
(DM’ g5 7 fif 208 9 L A 3-15(a) 7R
o.= (K + Koy + Koy Koy ) po
P Koy Kep Koy Koy 20500 ARRE T AL T ISV B £ 0 ) R A
(2)M' S5 AE T 4R TTA 2 . P 3-15(b) B 7R
o.—= (K. +Ka)po
(3)M' g5 1 17 28 10 1 2 AM I, 40 1] 3-15 Co) BF s s e BF S 17 2% 10 abed 7T F 2
T (fogMD 5T (fahM)HZ 22T (M gee) 5N (M'hde) 2Z 2245 1L » T L
o.= (K =Ko Ko —Kay ) po
(M 5 AE faf 28 18 A 5 AN, 4 P 3-15 (D s s A 2% 1 abed 1T & N
I (M'hee) \IV (M ga ) BiA AR T (M ho £ R (M gde) T 5+ T LA
o.= (K. — Ko — Ko Koy ) po



el 5 o

c c e _d c e _d c
I | |
|1} L |
Lot W i V| 1
H: I\ | h i a
I 7 o L. b
[ | M g fo
| M 1 mr
a b a b [ a b M g h

(a) (b) (c) (d)
B 315 MNRaREZitESREREH TN INES 6.

(5 3-21 DU sk ih 518 3-16 () B B AEJE Sl Y B 6 1S vh O s B 20T A W] IR
Ak 4 3 KL B T 0 o 9 53 A I 25 08 AR S8 BE Rl £ B R R (P AH B AL 6 m, i 2 (] Ak
fiff FHO
Cf2Y (O TF5 LAl F X N T bR (R I CH T 55 L8 1) 1) 5k i ~F- 24 B s g
FLnly K b I B
G=7;Ad=20X5X4X1.5=600(kN)

IR T
p=" O LIOEE0 197 (k)
B b B ERN 1R
0. =Y, d=18X1.5=27(kPa)
HE RSP B T Sk

po=p—0.=127—27=100(kPa)
IR P & o T ARSI S o, WA 3-16(b) At , FEJE a0 45 o 7T
A IR DA AR A5 B /N R A 20T T Coabe) B9 F Sy i R SE L 1/0=2.5/2=1. 25 LR
z=0.1m.2 m.3 m.4 m.5m.6 m.7 m.8 m.10 m &3+& 5, F FHFN K 2/b v] DI N F 3-2
A BRI R S R K B . o OISR RS T 2 3-3 R T I BEOR R o 19 2 A AT
WE 3-16(d) fis .,

x33 o WIHELER1

i /b z/m z/b K. o:/kPa
(o.=4K.1 po)

0 1. 25 0 0 0. 250 4X0.250X100=100
1 1. 25 1 0.5 0.235 4X0.235X100=94
2 1. 25 2 1 0.187 4X0.187X100=175
3 1. 25 3 1.5 0.135 4X0.135X100=54
4 1. 25 4 2 0.097 4X0.097X100=239
S 1. 25 5 2.5 0.071 4X0.071X100=28
6 1. 25 6 3 0. 054 4X0.054X100=22
7 1. 25 7 3.5 0.042 4X0.042X100=17
8 1. 25 8 4 0.032 4X0.032X100=13
9 1.25 10 5 0.022 4X0.022X100=9
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w3 TR AME

(DI FERE i 5 o F P AHABSERE 2 A far 8T 512 A9 o, A1 ED 3-16 Co) i » LA
H 8 o FTE BRI 5 T Coa f) MR B FEIE 1 55 A5 1T Coaed) AH R 14 55 JE 1 24 36 £
BLHKTE /0 9k 8/2.5=3.2 f1 4/2. 5=1.6, [FEH FHFE 3-2 o] 53 & 15 K., Al
Koy so. TR ZE R IR 34,0 (43 R AN 3-16 (D TR .

£34 o WIHELER2

L/b K. . /kPa
J=y z/m z/b -
I Coafed| T Coaed) K., K. 0. = (Kep =K po
0 3.2 1.6 0 0 0. 250 0. 250 47X (0.250—0.250) X100=0
1 3.2 1.6 1 0.4 0. 244 0.243 4X(0.244—0.243) X100=0.4
2 3.2 1.6 2 0.8 0.220 0.215 4X(0.220—0.215) X100=2.0
3 3.2 1.6 3 1.2 0. 187 0.176 4X(0.187—0.176) X100=4.4
4 3.2 1.6 4 1.6 0.157 0. 140 42X (0,157—0.140) X100=6. 8
5 3.2 1.6 5 2.0 0.132 0.110 4X(0,132—0.110) X100=28. 8
6 3.2 1.6 6 2.4 0.112 0.088 4X(0.112—0.088) X100=9. 6
7 3.2 1.6 7 2.8 0. 095 0.071 4X(0.095—0.071) X100=9. 6
8 3.2 1.6 8 3.2 0.082 0.058 4X(0.082—0.058) X100=9.6
9 3.2 1.6 10 4.0 0.061 0. 040 42X (0.061—0.040) X100=8.14
. 4m . R 4m . R 4m .
. 1 | 1 . 1 | 1 . 1 | 1 .
- | - | - | -
g
)
E (o]
g |_—| c |_—| ¢ wn|d |_—| S o
0
- o] | - o] ] L]
g
w)
! ! pli
£ 4 a b J{e a /L
6m | . 6m |
| 2m 2m | | 2m 2m L
1 T 1 T
(a) (b) (©



F F=1940 kN F

T R R ) T
"‘—Z; " - "HﬂmW _‘—ZW
il «EEEEERS:

0 100 kPa

z=10m

& 3-16 5 3-2

2. ZRBAHHEREHIERER

A 15 7 R T L300 1) A A il 3 ¢ O A R ) R
R ARy o 25 RURT 20% (FL 300 0 9 A8 1 b A LA O COL T 3-17) . WU 4 480 1 P B¢
5 s ) A BRI R ey I 9 5 A 0 L S b 0 podardy 1RFE . 08 1 T IR = 10 M

SHZEE T 5 N R H) do. s 35 20(3-13)

3 poaz’ ‘
do. = 2nb(2*+y' +2 rdrdy

dp:%pndxdy

7z
B 317 =fAESHFERGHASATH 6

TEXT B Aty 2R A AR AT B 0 S5 A8 Ml 1 AR ETREE < b m B J1 6.~
o. =K. po (3-26)
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A

1 n*
K, :@[ ‘ - — : ’ }
Yo2nl i AE (et SRl

[vi) B, o ] SR AR 4R B KA A 0 2 FAR TR = kb S BN 1 o
U::Krpo:(Kc_Kn>po (3-27)
KoM Ko B2 m=1/b Mn=z/b BYeREL Al 138 3-5 ], LAUER. Bk o ARET5 5
Bilt 1) B 88 T 30 = #6404 48005 1] i G
R35 ZARSTHERTRASTHERMME SR K, 1 K,
/b

2/b 0.2 0.4 0.6 0.8 1.0

M1 M2 M1 M2 ol M2 o1 M2 =l M2

0 N 0 0 W B 0

0.0 0.000 0]0.250 0]0.0000]0.2500|0.00000.250010.0000|0.2500]0.0000] 0.2500

0.2 0.022310.1821]0.0280|0.2115|0.0296(0.2165|0.0301|0.217 8]0.0304]0.218 2

0.4 0.026 910.1094|0.04200.1604|0.048 7]0.178 1{0.051 7|0.184 4]0.053 1] 0.187 0

0.6 0.02591]0.070 0(0.044 8|0.116 5[0.056 00.140 5]0.0621|0.1520]0.0654 ]| 0.157 5

0.8 0.0232]0.0480|0.0421|0.0853{0.0553|0.1093]0.0637|0.1232]0.0688| 0.1311

1.0 0.020110.0346|0.0375|0.063 8|0.0508|0.0852]0.0602|0.0996]0.0666|0.1086

1.2 0.0171]0.026 0]0.0324|0.0491|0.0450]0.067 3|0.0546|0.0807/0.0615]0.0901

1.4 0.014 510.0202]0.027 8|0.0386|0.0392]0.0540/0.048 3|0.0661]0.0554]0.0751

1.6 0.0123]0.016 0|0.023 80.0310{0.0339(0.04401]0.0424|0.0547]0.049 2| 0.062 8

1.8 0.010510.0130(0.0204|0.0254|0.0294]0.0363|0.0371|0.0457]0.043 5] 0.053 4

2.0 0.009010.0108|0.0176]0.0211|0.0255]0.0304|0.0324|0.0387]0.0384]0.045¢6

3.0 0.004 6 10.0051]0.0092|0.0100{0.0135|0.0148]0.0176|0.0192]0.021 4| 0.0233

ol
o
o

.001 810.0019|0.0036|0.0038{0.0054|0.0056]|0.0071]0.007 41]0.008 8| 0.009 1

7.0 0.000 910.001 0|0.0019|0.0019]0.0028|0.0029]0.0038|0.0038]|0.0047|0.0047

10.0 10.000 5| 0.000 4 |0.0009|0.0010|0.0014|0.0014|0.0019]0.0019]|0.0023]| 0.0024

z/b 1.2 1.4 1.6 1.8 2.0

sl M2 M1 M2 sl M2 1 M2 M1 M2

0.0 0.000 0]0.250 00.0000|0.25000.0000|0.25001]0.0000|0.2500]0.00001] 0.2500

0.2 0.0305]0.2184]0.0305|0.2185|0.0306(0.2185|0.0036|0.2185]0.0306]0.2185

0.4 0.053910.1881|0.0543|0.1886|0.0545|0.1889]0.0546/|0.1891]0.0547|0.189 2

0.6 0.067 310.1602|0.0684|0.1616{0.06900.1625]0.0694|0.1630]0.0696|0.163 3

0.8 0.072010.1355(0.0739]0.1381|0.0751]0.1396{0.0759|0.1405]0.076 4| 0.141 2

1.0 0.070 8 10.114 3|0.073 5|0.117 6 |0.0753(0.1202|0.076 6|0.1215]0.077 4| 0.1225

1.2 0.066 410.096 2|0.0698|0.1007|0.0721]0.1037{0.073 8|0.1055]0.07491 0.1069






